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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the serial number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(1) All questions in both sections are compulsory.

(2) Marks for questions are indicated against each question.

(3) Question No. 1-5 and 16-20 are very short answer questions carrying 1 mark each.
They are required to be answered in one sentence.

(4) Question No. 6-8 and 21-23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

(5) Question No. 9-11 and 24-26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

(6) Question No. 12-15 and 27-30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

(7) Answers should be brief and to the point and the above word limit be adhered to as
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SECTION - A

1. U IEH FIEE TAM & [T T Adl & Afeh SHaH™ ol Yau- @ shial & | Jammed

ANTT hl UgaT hifeT | 1

A producer borrows money to run a business but manages the business himself.

Identify implicit cost.

2. U BH UH %] HI 31 AET Fael HAd HH Foh &l oF Thal ¢ | SHR! Fia Feia
(3MH) .
(wt fomes o)
(a) T TENTE (3TTH) § ATeeh gt
(b) T TEATE (3TTH) H HH el
(c) T T (W) & TAM &t
(d) et 1
A firm is able to sell more quantity of a good only by lowering the price. The firm’s
marginal revenue, as he goes on selling, would be :
(choose the correct alternative)
(a) Greater than average revenue
(b) Less than average revenue
(c) Equalto average revenue

(d) Zero

3. R H FH % e ¢ 2 1

When does ‘decrease’ in demand take place ?
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Sl FF g forshar g T & ;
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(a) ol wfqitiTar
(b) UHMIHIRR WA
(c) STeUYHR

(d) SWiE § F HiE TRl

‘A few big sellers’ is a characteristics of : (choose the correct alternative)
(a) Perfect competition

(b) Monopolistic competition

(c) Olgopoly

(d) None of the above

Teh TH ! T GO (3TFTH) 39 SR H FRaR fer &t € ¢ (@@ faswen gim)

(a) o7 Wi
(b) TSI HfcTar
(c) THIHR
(d) SWIiT et

Marginal revenue of a firm is constant throughout under : (choose the correct
alternative)

(a) Perfect competition

(b) Monopolistic competition
(c) Olgopoly

(d) All the above

Tk UM haeT S Sgall X 3T Y T SUNT Kl € | Wi Uideq % 1 ¥ 1 e X
3R Y &l i HEeT: T 3 31X T 4 Uid Th1E & | T ST Fefoi | & 2 STl ST Uidfshar
T B ? HROT T |

A consumer consumes only two goods X and Y. The Marginal Rate of Substitution is

1. Prices of X and Y are ¥ 3 and % 4 per unit respectively. Is the consumer in
equilibrium ? What will be further reaction of the consumer ? Give reason.
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7. X AR Y g3l Sl HET GO AR U I SR (—) 1 € | T I FHgeh! /T S AR
T 3R T 2 3

Price elasticity of demand for the two goods X and Y are zero and (—) 1 respectively.
Which of the two is more elastic and why ?

8. T AT RO T 37 R gHH TNUMT FHAEH |
YT
T %] I AT H Gy’ o HROT S Aol TEIE il Eel Ty | 3
Explain the meaning of ‘minimum’ price ceiling and its implications.
OR

Explain the chain of effects of ‘increase’ in demand of a good.

9. U I Sl AT UX ST 1 37T S & TITe THEY | 4

Explain the effect of change in income of a consumer on demand of a good.

10.  THT 3R Fol [T UK T & ISTAH Shalel Ueh 3T bl gl b STt & STalfeh 317 3Tl i
TR 7@ ST € | U9 SAe %oid | $ol 318 1 S8R TaTsy |

YAT

AN T AR ST | S-S 3cas | gfg &l Sl & (a) FoT FeX ArTa 3K (b) Fot
IRl AT T HFER Ty | 4

What type of production function is this in which only one input is increased and

others kept constant ? State the behaviour of total product in this production function.
OR

Define cost. State the behaviour of (a) Total Fixed Cost and (b) Total Variable Cost as

output is increased.

58/2/1 5 [P.T.O.



11.

12.

13.

14.
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Ui SRR Ui Qo AT & 2 ST iHa Wi g T 2 TR S & a gid 100 w6 |
T 80 THIE & S & | SMYRT T HEd o 2 & | INax & Yo i Hiud BT GRebor
HIT |

What is perfectly elastic supply ? When price falls by I 2 per unit, supply falls from
100 units to 80 units. Price elasticity of supply is 2. What was the price per unit before

change ? Calculate.

T QEYRUT T SR, {6 g off e dreq ot sgei o 3R § Ush ST H9eT T
BT, ICAE TRTET TTfeTehl i TETa O “3TeeR AT 3 “OREe ol Wi 3¢ STEERom
THSAEY |

Explain the concepts of Opportunity Cost and Marginal Rate of Transformation using

a production possibility schedule based on the assumption that no resource is equally

efficient in production of all goods.

T ST Sheret & a&qall X 3T Y o STHNT el & | WrArd SUAITar foeeivor s Jerar
T SUIRAT et i 9Tt TR |

A consumer consumes only two goods X and Y. Explain the conditions of consumer’s
equilibrium using Marginal Utility Analysis.

“ofct =5k H fagepre” SR < a5 & -9 Ior § 3R SEeEU | U o oY MEER
Ueh R Id13U | TG Sl T Shifed |

Explain the difference between “Shift of Supply Curve” and “Movement along Supply
Curve”. State one factor responsible for each. Use diagrams.

St whtanford & forg

A T Tk 9] & el 1 {ashal & | 39 HIaT o YR U SAfeRdsh STYfd el
SIS YfcT AT AT e <l UTshaT THEMEY | Ueh WEATH ST AINT |

For blind candidates :

Explain the derivation of market supply schedule from individual’s supply schedules
assuming that there are only two sellers. Take a numerical example.
6
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freTeIRad o aRom Tweiet
(a) USRI UFARTAT § Seag fawig
(b) IOl HicATTaT & qoT 4

YT
freTeIRad o aiom Tweiet
(a) STCIMYHR H HHT o ale TR TR
(b) O HicATaT H fasharatt ot agt e

Explain the implications of the following :

(a) Product differentiation in monopolistic competition.

(b) Perfect knowledge in perfect competition.

OR

Explain the implications of the following :

(a) Interdependence between firms in oligopoly.

(b) Large number of sellers in perfect competition.

[P.T.O.
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SECTION - B

16. Gohed TERT =l IR ST |

Define Gross Investment.

17. SCRH H 379t YSiTa aRgeaar & W | e aTel STIeIieTd STeei i I8 ed ¢

(W forehe )
(a) T USIr SHT TR
(b) ST &
(c) o e

(d) I § ¥ HE T

Unforseen obsolescence of fixed capital assets during production is :
(choose the correct alternative)

(a) Consumption of fixed capital

(b) Capital loss

(¢) Income loss

(d) None of the above

18.  wnafyes are 9 & A & 2

What is primary deficit ?
58/2/1 8



19.

20.

21.

22.

58/2/1

TER FR faferr &1 319 € : (Wl faswed 9fv)

(a) TRt areret St o S

(b) 3T HrESTE e % WA ST

(c) U 9o s

(d) 3o 1
Disinvestment by government means : (choose the correct alternative)

(a) Selling of its fixed capital assets

(b) Selling of shares of public enterprises held by it.

(c) Selling of its buildings

(d) All the above

T G e (e forehed )

(a) TTC] OIGET ST T ATe] ol Ui R 3TIeer

(b)  UST AT A T UST T Wi R S

(c) & YA Sl WA Wi OX e

(d) FHESH T T 1 FHESH &g Wi I ST 1
Balance of Payments ‘deficit’ is the excess of : (choose the correct alternative)

(a) Current account payments over current account receipts.

(b) Capital account payments over capital account receipts.

(c) Autonomous payments over autonomous receipts.

(d) Accommodating payments over a accommodating receipts.

g ARaras 3T 400 &1 31X Had Gahish 100 &, o Higeh 37 HT IRbeiT BT | 3

Given real income to be 400 and price index be 100, calculate nominal income.

T YA ST AHT 3 STHRT Vg 3R FHid STHRT Vg o e 9 Hi |
reran

TUSET 3TTET | X Hed H WHRI 3 1o YR el &l Gehell ¢ | 3

Distinguish between Average Propensity to Consume and Marginal Propensity to
Consume using a numerical example.

OR

Explain how can government spending be helpful in removing deficient demand.

9 [P.T.O.



23.

24.

25.

26.
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T ITHT = = 120

i 39T vgd = 0.9

faer =13 = 1100

Find equilibrium national income :
Autonomous consumption expenditure = 120
Marginal propensity to consume = 0.9

Investment expenditure = 1100

TWHR I hT HEAHA W AT Hl & | TG Fobel TNe] ScUIR 3R HeAmwl W I
TEMET |

Government spends on child immunization programme. Analyse its impact on Gross

Domestic Product and welfare of the people.

TZT 1 WISl THE FE TR | T-faH9T ¥ S Hatad goen &1 Faror 39
FHROT FH & U 2

YT

HET AN A H1 GHRE0 | o faf o & 3o deifad g 1 HaroT 366
RO 6 & A E 2

Explain the ‘Unit of Account’ function of money. How has it solved the related

problem created by barter ?
OR

Explain the ‘Standard of deffered payment’ function of money. How has it solved the

related problem created by barter ?

HE S H SR 9 e TR |
Explain the ‘bank of issue’ function of central bank.

10



27. T Wit H S AT ¥ 2 Seiegeren § fRrer v °§ §R] 991 S AEH HHEET |
arar

THR ST F 97 MU & 2 e § GHEAT o ST Sl YHiferd i § GLhR] a1
AT AT | 6

What are revenue receipts ? Explain the role of government budget in bringing

stability in the economy.
OR

What is government budget ? Explain the role of government budget in influencing

allocation of resources in the economy.

28. T 3 G I oK B i &1 Sehedeh I U SHITT | FeT ol U & J@iras o
fe@mw | 6

Derive the two alternative conditions of expressing national income equilibrium. Show

these equilibrium conditions on a single diagram.

gfeanfim wanfoat & fow .
UL 3T G I KT HIA Dl 31 Ahiedsh I GHET | ST TIae o § = &f af
Tk HROT & aTeT TTe HHRRT |

For the blind candidates :

Derive the two alternative conditions of expressing national income equilibrium.

Explain the effects when economy is not in equilibrium.

29. YRAE Haveh fasel @ SUR oid & | FefeiEd w9t o ST T
(a) YT G oiE | R 3U-oiEl | 317 fhg Ut § 39 SUR ol g7 3T 2 HROT T |
(b) TaF9T 3T W TS d1el 39 SUR & U9TE & RAT HiteTy | 6

Indian investors borrow from abroad. Answer the following :

(a) In which sub-account and on which side of the Balance of Payments Account

will this borrowing be recorded ? Give reason.

(b) Explain what is the impact of this borrowing on exchange rate.

58/2/1 11 [P.T.O.



30. “HRP AN W Haet TRe] 3R 3R =TT 3 A hifT

(L)
() heT AT AT 3T 600
(ii) foret ot fHaet =] gErao (=) 20
(iii) 37T Yt ST TR 60
(iv) TIHR GRI =Te] FEATT 30
(v) 3UHE T 100
(vi) WTHR H U A 80
(vii) 3T e 10
(viii) ToreRTr =t fraet SR T () 10
(ix) LR FOT W AR 40
(x) o 150
Calculate Net Domestic Product at Factor Cost and Private Income :
(X crore)
(1)  Gross National Disposable Income 600
(i) Net current transfers to abroad (-) 20
(111) Consumption of fixed capital 60
(1v) Current transfers from government 30
(v) Indirect tax 100
(vi) Income accruing to government 80
(vii) Subsidies 10
(viii) Net factor income to abroad (- 10
(ix) National debt interest 40
(x) Personal tax 150

58/2/1 12



SENIOR SCHOOL CERTIFICATE EXAMINATION
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MARKING SCHEME - ECONOMICS (FOREIGN)
Expected Answers / Value Points
(SET-1)

GENERAL INSTRUCTIONS :

10

The Marking Scheme carries only suggested value points for the answers.
These are only Guidelines and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the
marks be awarded accordingly.

As per orders of the Hon’ble Supreme Court, the candidates would now be
permitted to obtain photocopy of the Answer Book on request on payment of
the prescribed fee. All examiners/Head Examiners are once again reminded
that they must ensure that evaluation is carried out strictly as per value points
for each answer as given in the Marking Scheme.

All the Head Examiners/Examiners are instructed that while Evaluating the
answer scripts, if the answer is found to be totally incorrect, the (x) should be
marked on the incorrect answer and awarded ‘0’ marks.

Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE
WHERE THE ANSWER ENDS.

Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme should be followed.

For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

For mere arithmetical errors, there should be minimal deduction. Only ¥ mark
should be deducted for such an error.

Where only two / three or a ‘given’ number of examples / factors / points are
expected only the first two / three or expected number should be read. The rest are
irrelevant and must not be examined.

There should be no effort at “moderation” of the marks by the evaluating teachers.
The actual total marks obtained by the candidate may be of no concern to the
evaluators.

Higher order thinking ability questions are for assessing a student’s understanding /
analytical ability.

General Note: In case of a numerical question, no marks should be awarded if
only the final answer has been given, even if it is correct.
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Distribution

1 .
C Expected Answer / Value Points of Marks
(SECTION-A)
1 | Imputed salary of the producer 1
2 | (b) Less than AR 1
3 | When there is decrease in demand due to a factor other than own price of 1
the good or naming a factor like fall in price of substitute, etc.
4 | (c) oligopoly 1
5 | (a) Perfect Competition 1
6 | The consumer is not in equilibrium because
MRS > ZXor1s> 1
P, 4
Since the consumer is willing to pay more for good X than the market
requires, the consumer will buy more of good X and less of good Y, continue
to do so till MRS declines enough to become equal to i—x 2
y
7 | Y is more elastic than X because one percent change in price of good Y leads
to one percent change in quantity demanded while one percent change in 3
good X has no effect on demand of good X.
8 | For certain goods and services, government sets minimum price. This 1
minimum price is called minimum price ceiling.
This price is normally set at a level higher than the equilibrium price. This 2
leads to excess supply. Since producers are not able to sell all they want to
sell, they illegally sell the good or service below the minimum price.
OR
‘Increase’ in demand leads to excess demand . Since buyers will not be able
to buy all they want to buy, competition among buyers emerge leading to 3
rise in price. Rise in price leads to fall (contraction) in demand and rise
(expansion) in supply. This continues till demand is equal to supply at a new
equilibrium price which is higher than the earlier price
9 If the good is a ‘normal good’, a rise in income will raise the demand for that 2
good.
If the good is an ‘inferior good’ a rise in income will reduce the demand of a
good. 2
(Diagram not required)
(Answer based on fall in income is also correct)
10 | Short run production function. 1
e |Initially TP increases at increasing rate.
e After a certain level of output TP increases at decreasing rate. 3

e Ultimately TP falls

Pg. 2



OR
Cost is the sum of actual money expenditure on inputs and imputed

1
expenditure on inputs supplied by the owner, including normal profit.
TFC remains unchanged as output is increased. 1
Initially TVC increases at decreasing rate upto a certain level of output and 2
then increases at increasing rate.
11 | Perfectly elastic supply refers to supply which changes drastically even 1
when there is a small change in price.
1%
ES = x 22
Q" AP
_ 1
7= 720
100 © -2
iz
P=22_Rs. 20 :
20
12 | Suppose the only two goods produced are X and Y.
Combinations X (Units) Y (Units) MRT(=AY : AX)
A 0 20 -
B 1 18 2Y:1X
C 2 14 4Y:1X
D 3 8 6Y:1X
E 4 0 8Y:1X )
(or any other relevant schedule)
Opportunity Cost refers to the quantity of one good foregone to obtain
more quantity of the other good. For example when we move from
combination A to B the economy foregoes 2 units of Y to obtain one more
units of X. So opportunity cost of obtaining 1X is 2V. 2
MRT means quantity of one good sacrified to produce an additional unit of
the other good. For example , When we move from combination B to C the
MRT is 4Y:1X. MRT increases as to produce more of good X. We need to
transfer less and less efficient resources from good Y. 2
13 | The conditions of consumer to be in equilibrium are
(1) MUx _ MUy 1
Px Py
(2) MU falls as more of a good is consumed. 1
Explanation:
(1) suppose Mp—l:c is greater than MP—? . This shows that per rupee MUX is
higher than per rupee MU,. The consumer is induced to buy more of
X and less of Y. This continues till MUx falls and MUy rises enough to 3
make Mp—l:c = MP—? i.e. to reach back to the equilibrium.
(Answer based on MUx MUy is also correct)
Px Py
(2) The condition that MUx falls as more of good X is consumed is
required because unless it is not so the consumer may end up 1

consuming only one good and not reach equilibrium.

Pg. 3



14

Shift of supply curve takes place when there is a change in supply due to a
factor other than own-price of the good . For example, suppose tax rate on
the good is reduced. This reduces cost and shifts the supply curve from S; to
S, . Price remaining unchanged. Supply increases from 0Qi to OQ;

(Answer based on any other factor is also correct)

Y a
PR\(\E ) g?,
A
A R _~
P e
#
o~ :
i % .

@ 8, Q2  SuPPLY Diagram
Example (factor)
Explanation

(Answer based on leftward shift is also correct)

Movement along the supply curve takes place when there is change in own
price of the good. Suppose own price rises, this expands supply. The change
is shown along the same supply curve S, from A to B leading to change in
qguantity supplied from O0Qi to 0Qz

Price S
I3 e B
|
Pl A i
!
.
0 Q@ Q. svpPLY
Diagram
Example (factor)
Explanation

(Answer based on fall in price is also correct)

For the blind candidates

Market Supply schedule is derived by summing up supplies of all the
suppliers of the good at each price. Suppose there are only two firms A and
B producing a good. The supply curve is derived from the figures as given
below.

Price(Rs.) Supply by  Supply by Market
A B Supply

20 100 80 180

25 200 150 350

(Explanation based on fall in price is also correct)

[y

[y

Pg. 4



15 (a) Product differentiation implies that buyers differentiate products of
firms various as different. So they are willing to pay different prices
for the products of different firms . This product differentiation gives
the power to an individual firm to influence the market price on their 3
own.
(b) Perfect knowledge implies that buyers are fully aware of price in
market and sellers of technique of production. Knowledge by buyers
further implies that no buyer is willing to pay a higher price for the 3
product of any firm. Knowledge by sellers implies that cost of
production is same for all producers.
OR
(a) Interdependence between firms in an oligopoly market implies that
an individual firm takes into consideration the likely reactions of its 3
rival firms before making a move to change price or output. It is
possible because it is assumed that rival firms may react.
(b) Large number of sellers means that number of firms are large enough
so that contribution to total output of the industry by any individual 3
firm is negligible. So, no single firm is in a position to influence the
market price on its own by changing its own output. Thus, Price
remains unchanged.
SECTION -B
16 | Gross investment is addition to stock of capital before making allowance for 1
depreciation.
17 | (b) Capital loss. 1
18 | Fiscal deficit (or borrowing) less interest payments. 1
19 | (b) Selling of shares of public enterprises held by it. 1
20 | (c) Autonomous payments over autonomous receipts. 1
21 | Real income = Mominalincome o 40q 1%
Price Index
Nominal income
i diieddledealio 1
400 00 X 100
) ) %
Nominal income = 400
22 MPC is the ratio of change in consumption expenditure (AC) to change in 1
total income (AY).
1
Suppose AC =70 and AY = 100 then MPC = %00 =0.7 %
(or any other example)
APC is the ratio of total consumption expenditure (C) to total income (Y). 1

0

Suppose C=80and Y =100 then APC = % = 0.8

(or any other example)

%
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OR

Deficient demand means excess of AS over AD at full employment . Since
government expenditure is component of AD, increasing it will help in
removing deficient demand in the economy.

23

Y =C+MPC(Y) +1
Y =120 + 0.9 (Y) + 1100
0.1Y =120+1100=1220

Y= Rs. 12200 }

24

Government spending on child immunization programme is government
consumption final expenditure. Therefore, it raises GDP. Since such a
programme improves health, it will raise efficiency level of people and
increase welfare.

25

Unit of account function of money means that money can be used for

qguoting prices or recording transactions. This removes the difficulty of

keeping accounts and makes possible the existence of financial institutions.
OR

Deferred payments are postponed payments to be made in future. Such
payments arise on account of borrowing and lending activities. It has
removed the problem of absence of financial institutions in the barter
system. It has also removed the problem of trading in wider areas.

26

Central bank is the sole authority to issue currency in the country. Since no
other authority is allowed, this ensures uniformity in issue of currency.
Since currency with public is a part of money supply, it gives the central
bank some control over money supply in the economy.

27

Revenue receipts are the receipt which do not create any liabilities nor lead
to reduction in any assets.

Stability in the economy means keeping fluctuations in general price level
within limits. When there is inflation, government can reduce its own
expenditure to bring down the price level. When there is deflation
government can increase its own consumption expenditure to fight it.
Government can also use taxes and subsidies to influence personal
disposable income and bring economic stability in the country.

OR

Government budget is a statement showing estimated government
expenditure and receipts during a financial year.

Government can encourage production of selected goods and services by
providing tax concessions. For example electricity generation etc.
Government can also give subsidies to enterprises who are willing to
undertake production in backward areas etc. In this way government
budget can be used to influence allocation of resources in the country.

Increasing taxes and reducing subsidies will have the opposite effect.

Pg. 6



28 [ AD=AS s (i) 2
(C+1)=(C+S)
S=1 (i)
AD, 3
g, ADU)‘X
E
S
I Z = I, 2
("
° / M NATlONAf
INCOME
S
AD = AS is at E where AD curve intersect 45° line at E 2
S= |l is at E’, when saving curve intersects investment curve at equilibrium
national income is OM.
For blind Candidates:
AD =AS (i) 3
(C+1)=(C+S)
S=1 (ii)
Suppose AD > AS or S<I, then inventory will fall short of desired level. The 3
producers will raise output AS will rise till AD = AS i.e. point E.
(Answer based on AD<AS or S>l is also correct)
29 | (a) Borrowings from abroad are recorded in the capital account of the 2
B.O.P. because these give rise to foreign exchange liabilities.
These are recorded on the credit side because these bring foreign 2
exchange into the country.
(b) Borrowing from abroad raise supply of foreign exchange. Demand 2
for foreign exchange remaining unchanged, exchange rate is likely to
fall.

30 | NDPs, =i—iii +ii — v+ vii + viii 2
=600 — 60 + (—20) — 100 + 10 + (—10) 1%
= Rs.420 Crore %

Private Income = NDP¢. — vi — il + v + ix — viil 1
=420 —-80 — (—20) + 30+ 40 — (—10) %
%

= Rs.440 Crore

Pg.7
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